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(- ) Maternal inheritance
(= ) Synapsis in meiosis
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= ~The numerical aperture of a microscope is given as the average of the NA
of the objective and the condenser. If the NA of the condenser is 1.25,
when would it be appropriate to use this equation?

- ~ A graduated cylinder is carefully filled with four different solutions, each
with a different density. Next, a mixture of soil containing four primary
minerals is placed into the cylinder. Sketch the appearance of the
cylinder; identify each layer and the location of each mineral in the
cylinder, assuming perfect layering of solutions.

Solution 1: 50 mL, D=4.25 g/mL
Solution 2: 25 mL, D=2.45 g/mL
Solution 3: 50 mL, D=3.34 g/mL
Solution 4: 25 mL, D=1.80 g/mL
Mineral 1: oldhamite, D=2.58 g/mL
Mineral 2: realgar, D=23.56 g/mL
Mineral 3: haycockite, D=4.35 g/mL
Mineral 4: graphite, D=2.16 g/mL

A ~ A suspect is apprehended in an assault case and is found to have smears
of makeup on his clothing. The victim was known to have been wearing
a distinctive pearl-white makeup. The pearl effect in cosmetics is from a
bismuth compound, BiOCI. Bismuth can be detected by monitoring the
light emitted from an ICP at 223.1 nm. Calculate the energy and
frequency corresponding to this wavelength.

1~ Calculate the number of grams of C4 military explosive (C3HgNgOg)
detonated if the resulting explosion produces 117.4 g of nitrogen gas
(please balance the equation first).

- ~ Describe each term as it relates to hair: root, cuticle, cortex, medulla, tip.
Include drawings and/or examples with your description for each term.
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